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5) What is the missing statement to show that AMEN = AWOA by ASA if ZM = Z/W and
MN = WA? : i
a) IN=ZA b) zO0 = /E c) LN =sW d) ME = WO e)none of these

6) If APIG = AST‘/, then which one of the following statements is true? (Circle one.)

a) ZP=4£S b) AGIP=AYTS c) LY=/,6 d) AIPG = ATSY
e) all of the above f) aand c g) band d h)aand b i)a,b,and ¢
7) Inthe sketch at the right, 4D = TB and ZADB = ZCBD. Which triangles A c.

need fo be proved congruent and for what reason in order to show than
the diagonals of the quadrilateral are congruent?

a) AADB = ACBD by 5SS ,b) AADB = ACBD by SAS
c) AAED = ACEB by ASA " d) AAED = ACEB by SSA
‘ 1) B
8) Which could be the lengths of the sides of a triangle? (Circle one letter.)
a)4m,3m,2m b) 5cm,10 cm, 13 cm c) 8 ft, 8 ft, 16 f+ d) 5in,12in, 6 in
e) all of the above ) none of the above g) aand b h) a,b,and ¢
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